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color = [-1 for _ in range(n)]

def dfs(v) -> bool: e GD‘W;V‘ gx (

for u in adj[v
if color[u ] == color[v]:
return False # There is no coloring.

if color[u] == -1:
colorjeql = 1 - color[v
if not dfs(u):
return False

return True thjf
w[\,;)
f~11 = False
y 'v 10 rescza(n): L’
L o0 Y= - R g -

copri )
fail = Tr ¢ p*“.
if not fail:
print("Bipartite")
else:
print("Non bipartite") | <,

Fa’.l:‘pﬁ“‘
for V =9__n-\!
(£ Colovfvd==-J:
colortvi= O
i€ wnot dFslv)
fo;\= Trae
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def find cycle(v,
used[v] =1

for u in adj[v]:
NUR==aDa

# Konua fpeBecHoro pebpa B ) CTOPOHY
continue

if used[u]:

return True # Hawnu obpaTHoe pe
elif find cycle(u, v):

# NpéM no ppesec

# Hawnum B p DCUN LUK

return True




used = [0 for v in range(n)]

def dfs(v):
used[v] =1

for u in adj(v):
if not used[u]:
dfs(u)




# OpPUEHTUPOBaHHLIA rpad

used = [False for in range(n)]:

def find cycle(v):
1

used[v] =

for u in adj[v]:
if not used[u] and find cycle(u):
return True

if used[u] == 1: # Back edge
return True

if used[u] == 2:
# Forward or Cross edge
# IX MOXHO OT/IMYUTbL [OOMOJSIHUTENIbHBIMU NPOBEPKaMM,
# HO B [aHHOM cflyyae HaM oba M3 HUX HEe WHTEpEecCHSI.
pass

used[v] = 2
return False
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